RH - T R

Ut

(T6CR)

i FRFPHCER 1

T6CR, T6DR, T6ER 3|

BB oo %] : T6DR-031-1R00-B10-A1
1. EBIY-031-1R00-B10-Al ... RS 4. T6DR-031-1H00-BlO-A1 ................................ i )
#71 | T6cR | T6DR | T6ER | e
S ‘% L
2. TO6DR-8E¥I-1R00-B10-Al.......cccoviirnnenn. %ﬁ“ﬁ'iﬂﬁ‘[ AT
T6CR T6DR T6ER 5. T6DR'O31'1R@'B 10'A1 ........................ iE[I: If‘ﬁjfﬁ[’
003......... 10.8 014.......47.6 042.......132.3 6. T6DR-031-1R00-E10-A1 ..................... = RRE
AN
.......... . ere000.66. T SSTEesT——
008.......... 26.4 024.......79.5 052........164.8 b2 il A 5 ¢
010.......... 34.1 028.......89.7 057.......179.8 7. T6DR-031-1R00-BHl0-AL................. = R TR
012.......... 37.1 031........98.3 062........196.7 e A T8 [T R
014 ..o 46.0 035.....111.0 066........213.3 B -
017.....583 | 038...1203 | 072.....227. kit 1]2]38]4 >
020........638 | 042...1360 | O85......269.0 T6DR-031-1R0O0-BIE-AL ..o, NUIMPHIE;
022, 703 045......145.7 " pt
025 793 050.....158.0 9. T6DR-O31—1R00-BlO-H1 ............................ A
028........88.8 10. T6DR-031-1R00-B10-AHl.......ccooovvccnncnns R
031........ 100.0 R R 1
3. T6DR-031fIR0O0-B10-AL ...oocvoorriirrrieenns T 1 T PAAIT i 5
== = B = =
Wi | I | & [ ®| [
s
P P
s (8 COD @




AR e

T6CR
L7 A A1
E 38.1
B F 82.6
/ J1| 101.60
[:I J2| 101.55
B \ N| 146.0
4 C Pan)
N QO O| 1745
S y B oP| 143
NI = B
- 'd
v L _ /Q T6DR
\ D E 38.1
< F 87.4
- C1 =TI J1| 127.00
T1 C1 :
0 J2| 126.95
N| 181.0
. L1 F o| 2124
@P| 175
L2
K1XK2 - I ]
\ B I — \ — T6ER
% / : o o E 52.3
— f M B F| 1102
m © <
NP ) J1| 127.00
_ - — J2| 126.95
T ‘ N| 181.0
N L O| 213.0
M1 Pl 175
G
=1
1 B (N.m) Al (mm)
T6CR T6DR T6ER L1 L2 [ K1x K2 H1 M1
i SAE BB (2925) 357 71.4 38.1 | 25.400-25.370 | 6.35x6.30 | 28.22 | M8x 16.0
1| i SAE C (231) 721 84.1 49.3 | 31.750-31.700 | 7.94x7.89 | 35.27 -
i SAE CC (238) 1343 90.9 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 | M10 x 20.0
5 |1 #:: No SAE (922) 238 58.7 31.7 | 22.225-22.200 | 476 x4.71 | 2453 -
i SAE CC (238) 1101 90.4 50.8 | 38.100-38.050 | 9.52x9.47 | 42.36 | M10 x 20.0
{-#:: SAE B 343 41.4 245 Class 1-J498b, 16/32 d.p. - 13 7}
3 |- SAEC 1020 55.2 38.0 Class 1-J498b, 12/24 d.p. - 14 7
L SAE C 1020 55.2 27.5 Class 1-J498b, 12/24 d.p. - 14 7
4 [~ . SAE BB [ J 46.2 18.3 Class 1-J498b, 16/32 d.p. - 15 7
L SAE CC 2004 61.8 315 Class 1-J498b, 12/24 d.p. - 17 7
5 |1 : No SAE (231) 238 55.5 38.1 | 31.750-31.700 | 7.94x7.89 | 35.27 | M8 x 16.0
& No SAE (935) 927 83.4 489 | 34.900-34.850 | 7.94x7.89 |38.42 | M10 x 20.0
El~+
JIF T 1 (mm) TL[ Y
Al B1 @C1 D1
T6CR P 1" 26.2 52.4 25.4 76.2 */g"-16UNC x 19.0
S 1" 35.7 70.0 38.1 76.2 15" - 13UNC x 22.4
T6DR P 1y 30.2 58.7 31.8 1,6 - 14UNC x 22.0
S 2 42.9 77.8 50.8 1,"-13UNC x 23.9
T6ER P 11" 35.7 68.9 37.1 98.6 %"-13UNC x 23.4
S 3 61.9 106.4 75.0 98.6 */5"-11UNC x 24.0
F F=r F. = E =t
= FREIHE Y o[ - G = BRE R3S - F9E (N.m)
(B K] T6CR T6DR T6ER R4 HHE] T6CR | T6DR | TBER
A SAE-A 82.65 - 82.60 M10 209.0 237.0 272.0 1 SAE-A 183 | 183 | 183
B SAE-B 101.70 - 101.65 M12 223.0 251.0 286.0 2 SAE-B 343 | 343 [ 343
C SAE-C 127.10 - 127.05 M16 233.0 261.0 296.0 4 SAE-C 368 | 623 [ 1108
3 SAE BB 368 | 545 | 545
FIE ST e T A 5 | SAE 16/32-11 F 264 | 264 | 264




